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Education Bureau 

Territory-wide System Assessment 2013 

Primary 3 Mathematics  

Marking Scheme 

Item No. Answers Mark Remarks 

1 B 1  

2 21 880, 21 905, 22 902 respectively 1 Must be all correct 

3 Forty-six thousand and thirty-five 1 Do not accept wrong spelling 

4 876 1  

5 75 1  

6 C 1  

7 1127 1  

8 204 1  

9 D 1  

10 B 1  

11 544 1  

12 

(1) 

 

(2) 

(3) 

She should get: 

500  (205 + 139) 

 

=156 (dollars) 
 

 

1 

1* 

1** 

 

Method Mark: other correct methods are 

also acceptable 
 

Answer Mark (*please see remarks below) 

Presentation Mark (*please see remarks 

below) 

13 

(1) 

(2) 

(3) 

26  6 + 17 

 

= 173 

There are 173 sweets in the bag 

originally. 

1 

 

1* 

1** 

Method Mark: other correct methods are 

also acceptable 

Answer Mark (*please see remarks below) 

Presentation Mark (*please see remarks 

below) 

14 D 1  

15 10, 50 respectively 1 Must be all correct 

16 60, 20 respectively 1 Must be all correct 

17(a) 
2

12
 1 

 

17(b) 3 1  

18 Any three of the blanks shaded  1 Holistic marking 

19(a) Write down any fraction which is 

equal to 1 
1  

19(b) Any fraction larger than 
5

8
 1 
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20(a) 84, 50 respectively 1 Must be all correct 

20(b) Circle an amount of ‘$15.50’ 1 Holistic marking 

21 B 1  

22(a) metre / m 1 Do not accept wrong spelling 

22(b) gram /  g 1 Do not accept wrong spelling 

23(a) 20
th

 December respectively 1 Must be all correct, do not accept wrong 

spelling 

23(b) 9 1  

23(c) Tuesday 1 Do not accept wrong spelling 

24(a) 25, circle ‘past’, 3, circle ‘afternoon’ 

respectively 
1 Must be all correct 

24(b) 50 1  

25(a) 30 1  

25(b) 9, 30, circle ‘p.m.’ respectively 1 Must be all correct 

26 A 1  

27(a) 900 1  

27(b) 700, circle ‘lighter’ 1 Must be all correct 

28 Circle ‘larger than’ 1  

29 B 1  

30 A 1  

31 C 1  

32(a) rhombus 1 Do not accept wrong spelling 

32(b) square 1 Do not accept wrong spelling 

33(a) A 1  

33(b) C and D 1 Must be all correct 

34 C 1  

35 The drawn line must be parallel to the 

line given in the figure, e.g.: 

 

1  
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36  1  

37 A 1  

38(a) clothing, 8 respectively 1 Must be all correct 

38(b) 2, circle ‘less’  1 Must be all correct 

38(c) 27 1  

39(1) 

 

 

 

 

 

(2) 

(3) 

Title: Favourite food for Breakfast of 

P.3B Pupils 

 

 

 

 

Sandwich: total 8 pictures 

Congee: total 2 pictures 

Pancake: total 7 pictures 

Toast: total 5 pictures 

Bacon: total 3 pictures 

 

 

 

1 

 

 

 

 

 

1 

1 

Holistic marking, wrong spelling is 

acceptable.  

Other suitable titles are also acceptable, but 

must include “Favourite Food”, “Breakfast” 

and “3B” 

 

Do not accept other pictures 

Holistic marking, must be all correct 

 

 

 


